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Then  ABCZG61=3
________________ CBA=164=13"
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xl_’f_'_ls.f_q_s_ymj_ro,_fhom_{rhﬂ the imaxitoum infersection of the_rectangles

s

i a vechangle of dimensions Vax H,, Proof:. let Vs ond H; be the
__vertical and horizontal ngf h of e
—intersechion. This_inferseckion_is fully_contained

~within_both_rechan gles. Ascume that Vs2Vo,
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_I}\e___\_Qrggsi_possib‘e volwe of R, which is_ 42 <o be obtained when

A=wN6 R e

We can_repeal Hhe same sheps to chow al the lorgedd pocible
valwe of Vs is 42, when A 72016, |

Then, e maximum _aves_of the intersection of the vectangles is
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 Figwed  Fgwed  Figwe3

Leb bne & be Hhe porpendicalar_bisechr of BC Since BC0, 0

~lies_on 0, Fix_point 0 on bine & Fix_pant M _on 0, extended

i on A woving Thal DABC is isoceles. |
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Similarly, in_Figure 3, when A s let of A DAMPDABC,
under line MP, therefore  AND AP, Combining inequalibes gwes us
AMAN, contradichion et

A cannet be o the vight of A, and A cannot be b the left of
A o0 A _coincides. _vyijfh,_Af)_H\ﬁe{gm_“ﬁBQ-k_‘j.so_c_ejﬁz .
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Yhe furth row blue and so on. Note thal if a_piece is on the

___________________________ j__.._...:._....._____._._.._..__-.._..._.....__- - - ol

adjacent 3 cquores Cimpossible_for_half of thom 1o be blue). There ave.
8 of Hhese squares on_each edge, and $x4=32 in fotal. Therefore,
the maimam _possible balanced squares 15 (00-3268. This 15 _achieved

in_the colorin g described ..a_!’_f!\!ef with rows alk er_naj_fl.n_g.. between

white and blue. Fach corner square has_one adjacent cquare of the
same_color, becde &, and_one_adjacent square of the opposife
(@ 0\0 . y.ey?;’:‘,. ical from |J' Eac \r\ _SQuave hQJ[ . 4Lo \_A_c_‘li_hg _an_e 0\ 90__ }\_@s_ . Jfwo N
squares, left and right of i1 with the same color, and_fwo_squares,

7 ) .
above and below i with the opposite color.
There are & corner_squares, and 38264 squaves mot buding Hhe

edae, which s 4164269 squares in_fokal, Therefore, Yhe moximum |
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(hr_exampe, 1121 W20 1120, wihich is not a seh, a5 shated in Hhe

problem _ shatement® “each number is wsed once”, T

e
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